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19 16822 1256 M8 49 07 02 0.0
20 156.2 156.6 745 179 24 0.4 0.1
21 98.0 1450 1075 374 64 05 00
22 64.1 1234 1285 58.1 14.1 25 02
23 364 946 1329 873 275 55 1.1
24 230 63.4 1133 1005 50.4 136 18
25 15.2 456 984 1179 69.9 20.2 4.1
26 87 308 722 1056 838 36.8 76
27 56 19.2 53.5 916 916 489 16.4
28 33 155 353 78.1 92.1 68.8 256
29 28 102 244 58.4 825 718 336
30 22 75 236 51.1 797 78.3 433
31 13 638 138 396 676 73.4 52.9
32 06 42 11.9 268 53.0 70.6 60.6
33 05 29 9.1 215 429 67.0 63.6
34 06 23 69 19.3 372 60.7 643
35 0.7 21 5.1 158 298 54.6 665
36 03 14 44 105 261 452 59.7
37 0.1 05 38 82 212 396 52.2
38 0.2 09 3.0 94 206 338 509
39 — 06 18 58 15.3 267 425
40 0.1 08 19 5.0 140 234 40
41 0.1 05 15 48 102 216 358
42 0.0 03 15 a4 109 172 339
43 0.0 03 08 38 8.1 17.2 306
44 0.0 0.0 09 2.1 65 135 25.7
45 — 0.1 03 20 6.4 138 23.7
46 0.1 — 0.1 15 54 99 18.9
47 — 0.0 03 12 36 93 183
48 — 0.0 03 1.1 33 74 17.4
49 — 02 13 24 69 16.0
50 — 0.1 0.1 07 29 59 121
51 — — 0.1 07 20 5.2 97
52 — 0.0 0.1 0.4 13 40 9.0
53 - 0.2 04 16 34 6.7
54 0.0 . — 0.1 06 35 72
55 = — 02 03 0.7 3.0 72
56 - — —_ 04 12 25 55
57 — — 0.0 04 03 21 41
58 = 02 04 19 36
59 — — 0.0 00 04 16 40
60 — ~ 02 06 13 37
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62 — - — 0.0 04 12 2.0
63 — — - 0.0 03 07 29
84 — —_ = — 03 04 17
85 - = 0.0 02 04 09
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13.6 29 02 0.0 — 30
16.7 37 0.4 - - - 31
23.0 5.3 0.6 0.0 — - 32
29.1 8.0 12 0.1 - 33
33.0 9.9 16 0.1 - — 34
399 14.9 26 0.2 — — 35
409 19.0 33 0.3 — — 36
437 19.6 45 0.7 0.1 0.0 37
50.3 243 5.8 1.0 0.1 0.2 38
46.8 26.1 8.2 19 0.2 0.1 39
51.4 32.2 12.1 24 09 0.1 40
478 336 13.1 38 09 0.0 M
46.1 383 18.0 43 1.2 0.3 42
4338 118 20.2 65 2.0 06 43
420 459 239 92 3.4 1.4 44
42.4 475 322 13. 4.9 22 45
421 456 325 16.3 8.0 5.6 46
376 449 39.1 200 104 7.4 47
336 50.1 44.4 235 145 84 48
286 44.1 424 309 17.2 1.3 49
272 46.6 50.6 34.1 228 17.9 50
235 421 483 389 276 212 51
226 388 51.2 451 37.0 265 52
18.7 36.1 476 431 376 321 53
16.0 31.2 4756 485 422 349 54
14.7 309 492 478 487 447 55
129 238 429 52.4 53.2 439 56
11.2 224 421 49.7 51.4 49.1 57
1.6 19.1 36.0 47.7 53.8 515 58
8.2 16.7 29.1 448 52.0 50.4 59
8.7 17.9 30.2 448 50.1 54.7 60
7.8 14.0 271 38.0 46.3 49.8 61
7.0 11.0 24.0 33.6 423 485 62
5.3 103 19.1 314 36.8 484 63
43 94 17.9 29.2 39.3 451 64
42 7.9 14.9 26.9 38.4 419 65
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67 = — — 0.0 0.1 05 13 2:7 6.0 1.2 203 269 312 67
68 - — = — — 0.2 09 3.2 4.1 10.4 182 225 26.1 68
69 = — = 0.0 = 0.1 08 25 55 8.1 159 188 232 69
70 — - — 0.0 - 0.2 13 22 4.4 71 133 17.9 242 70
71 - - = = 00 05 14 35 55 129 139 17.2 7
72 = = =S - 0.1 00 04 16 39 6.2 1.1 15.6 16.1 72
73 < - = — =i 00 05 1.3 35 5.2 9.8 11.2 137 73
74 — — .- — 00 0.1 0.1 1.2 3.0 54 89 103 11.2 74
75 = — - - - 0.0 0.2 14 20 5.2 79 98 13 75
76 -~ — 00 - 0.0 03 07 24 46 65 8.1 92 76
77 — — = e 03 04 08 22 33 5.6 73 78 77
78 — — — - - 02 0.0 0.9 16 35 5.0 55 79 78
79 — — - — 0.1 04 17 27 5.9 45 6.1 79
80 — — — — — 0.1 0.1 05 13 27 38 5.7 72 80
81 = = — — — 01 02 05 13 16 35 3.2 5.1 81
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87 —= = - = = i 03 06 09 18 18 3.0 87
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94 — — — — — — 0.0 0.2 0.6 1.3 1.2 1.2 94
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99 — — — — — —_ 0.0 0.1 05 0.9 1.0 1.1 99
100 = _ — — — — — brrd 0.3 0.2 05 0.7 12 100
101 — o = — = — — o~ 0.1 04 0.7 08 101
102 — —_ — — — — — == 0.0 0.3 0.7 0.5 0.3 102
103 - = - - < - == = — 0.0 02 0.4 05 0.4 103
104 - - = = = - 00 — 0.1 0.2 04 05 03 104
105 — — — — — — — — 0.2 0.1 0.1 05 0.5 105
106 — — — — — — — 0.0 0.0 0.0 0.1 0.7 04 108
107 = - = - - - = 0.1 02 0.1 06 07 0.2 107
108 —_ — — — — = — 0.0 02 0.1 04 0.7 03 108
109 — — — — = - - - 0.0 0.0 0.1 03 03 109
110 — - . - — 0.0 == 0.0 0.0 0.2 0.2 02 110
1 _ _ — - - - s 0.0 0.2 0.1 03 M
12 — — — — = — 0.0 — 02 0.1 0.1 112
113 == — - — — — — - 0.0 0.0 0.1 0.2 113
114 — = — — — — —_ — 0.1 — 0.1 0.0 114
15 = = - — — — — — 0.1 03 0.4 115
116 = o= = = = — - 0.0 — - 0.1 0.1 0.1 116
117 —_ — — — —_ —_ — — 0.0 — 0.0 117
118 — e == —_ —_ —_ —_ - —_ 0.1 0.1 0.1 0.0 118
119 s e — = = = = — — 0.0 119
120 — =y = = — — - - 0.0 0.2 — 120
121 — — - - = — - - 0.2 - 0.1 121
122 - — — - — — - — - - - - 122
123 — - — - — = 0.0 == — - — * 0.1 123
124 — e o e - = — —_ — —_ 0.0 0.0 124
125~ — e — — = = s — 0.1 0.0 06 05 04 125~
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15 42.2 6.4 T4 0.0 2 — — — = == ==
16 94.0 246 24 0.1 0.0 = — — - o = = —=
17 153.9 55.8 10.0 15 0.2 = — — == s - = =
18 173.8 102.6 26.0 34 04 0.0 = = == == == — =
19 1578 13489 53.0 1156 10 0.1 — 0.0 — — = =
20 1353 1586 28.0 263 45 05 0.0 — = — — = -
21 87.0 140.0 1204 489 9.1 1.2 0.1 0.1 = E=+ = — ==
22 56.3 110.1 1341 67.8 210 34 05 0.1 == = — — =
23 326 80.6 1208 96.6 386 8.3 12 0.1 B = == = =
24 19.2 57.9 109.8 109.3 528 16.5 23 0.3 e — == — -
25 12.6 385 80.9 109.8 708 258 55 05 0.1 == == — -
26 6.5 268 64.2 98.5 86.2 36.3 88 1.1 0.0 0.0 == S =
27 41 17.2 472 875 885 477 12, 1.8 0.1 0.0 = 0.0 -
28 34 12.3 36.3 715 87.8 59.5 19.6 2.6 0.6 0.1 = b=t ==
29 23 9.0 218 54.6 843 65.3 26.0 5.2 0.3 03 == 0.0 o
30 1.2 5.8 18.3 46.7 734 708 34.1 79 1.2 02 0.1 —= 0.0
31 0.9 4.7 13.1 35.7 62.0 69.7 39.2 10.5 20 0.4 = =
32 08 3.1 10.3 284 54.9 65.0 478 148 34 06 =* 0.0 —
33 05 27 6.8 216 432 626 484 19.2 4.4 11 02 = 0.0 33
34 05 1.7 79 17.3 364 62.0 51.0 236 7.0 1.2 0.7 01 0.1 34
35 0.2 1.4 45 139 325 52.5 55.1 29.9 9.7 27 1.0 0.6 0.2 35
36 0.2 0.8 3.7 10.7 27.2 48.1 55.6 33.2 14.1 35 1.9 0.8 05 36
37 0.1 08 22 75 205 442 54.6 401 17.7 6.1 34 1.4 1.3 37
38 0.1 05 1.8 6.0 19.7 399 54.8 454 227 8.7 49 24 1.6 38
39 0.0 0.5 1.4 5.0 15.1 3086 53.8 50.9 30.2 13.6 5.7 3.1 30 39
40 0.0 0.3 0.8 53 1.5 29.7 53.6 52.6 36.7 206 9.9 7.0 6.1 40
M = 0.3 0.7 28 115 272 446 56.8 400 229 15.4 8.3 8.6 4
42 0.0 0.0 04 3.0 76 213 452 54.8 51.2 288 224 13.3 15.0 42
43 0.0 02 03 2.0 7.8 18.7 38.7 57.3 52.9 38.1 278 223 20. 43
44 0.1 03 086 1.8 6.2 156.9 33.0 56.3 56.7 453 348 273 26.1 a4
45 — 0.1 03 09 4.7 12.7 322 435 59.7 51.5 46.4 386 386 45
46 0.0 0.0 0.3 1.0 4.1 10.4 26.0 47.0 61.5 56.9 491 411 46.3 46
47 0.0 0.1 0.1 1.3 30 10.8 253 450 59.5 615 55.4 49.9 51.5 47
48 — — 0.0 08 27 7.7 212 41.3 56.0 62.0 53.2 55.7 55.9 48
49 — — — 05 24 58 16.9 336 54.3 614 58.4 61.5 61.2 49
50 0.0 05 19 64 13.8 329 50.8 679 65. 66.7 70.0 50
51 — — — 0.2 1.5 4.0 1.0 248 426 57.0 59.7 63.6 62.6 51
52 — — 0.1 0.2 1.1 39 11.6 234 40.9 54.1 61.7 63.9 61.6 52
53 — — — 0.1 1.1 23 74 19.6 339 48.0 53.8 60.8 63.8 53
54 — 0.1 0.1 08 33 8.1 17.7 288 425 483 53.4 53.8 54
55 — - — 0.0 05 19 58 14.7 252 409 49.0 54.1 53.3 55
56 — — 0.1 05 25 57 127 218 325 43.0 47.4 471 56
57 = — = — 04 20 43 1.2 185 284 336 379 399 57
58 = — = — 01 14 39 9.7 12.8 223 264 345 384 58
59 = — == — 0.2 08 33 6.9 12.4 19.2 239 289 296 59
60 — 0.0 == 0.2 05 3.1 6.7 1.2 16.7 243 27.7 253 60
61 5= = — 0.0 0.2 05 22 49 7.7 10.6 17.0 18.4 16.6 61
62 = = == — 0.2 086 21 48 7.0 10.4 16.1 17.9 15.2 62
63 — == — 0.1 0.2 04 14 4.0 6.2 9.1 13.7 15.1 11.5 63
64 == = = — 0.0 05 1.2 36 5.2 73 103 1.9 121 64
65 = — = == 0.1 03 1.2 26 48 84 104 10.3 11.2 65
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